
                 SELF PRACRICE -  8 C 

     Q-1  FILL IN THE BLANKS:- 

Convert Kg into grams. 

(a) 4kg = 4 x 1000 = 4000g. 

(b) 3kg = 3 x 1000 = 3000g.  

(c) 8kg = 8 x 1000 = 8000g. 

(d) 7kg = 7 x1000 = 7000g. 

 Q- 2 Complete the sentence:- 

(a) 1 kg = 1000g. 

(b) 3kg30g = 3 x1000 + 30g 

              = 3030g. 

   (c)1 ½ kg  = 1kg x 1000 + 500g 

                        = 1500g. 

(d)4kg702g  = 4 x1000 + 702g 

                       = 4702g. 

Q-3 Write the correct answer in each blanks :- 

(a) 4kg 17g = 4 x1000 + 17g = 4017g. 

(b)5kg236g = 5 x1000 + 236g = 5236g. 

(c) 3kg 814g = 3 x 1000 + 814g = 3814g. 

(d) 5kg 13g  = 5 x 1000 + 13g  = 5013g. 



Q -4 Convert the following :- 

(a) 3000g = 3000g ÷ 1000 = 3kg. 

(b) 6000g = 6000g ÷ 1000 = 6kg. 

(c) 8000g = 8000g ÷ 1000 = 8kg. 

(d) 4700g = 4700 ÷ 4kg 700g.  

*****************************************       

WRITE IN YOUR CLASS WORK COPY. 





 


